=
t* nc_YW nc‘-’ 00
4y
L AINDU6=IN(A 17+A2nY)/(AznPen) § (Ynd/100<Y<=Yn0)
t*LaBInDus=N(A LA )/ (A2 1 (=Y/Y,)
ty(3,6)=329,*(18)=748 "y 0)=11164
(]

L ]
L]
o

L ]
1
trgo=1133,72, A=C 666, A,=,1044, ¢=1,00
t*15=747,51 A=0,&l7, A=0,0058

t*36=7428,7 5v[*u=-‘.ir5l Y~=18 : bereich

- 1%,=1
XN=0,2 Xw=5

LABJINDu6
Normfarbwertdifferenz
Yoc=Yw nc=100,
tLaBINDUs=IN(A1n+A2Y)/(A2rA0n)  (Yne/100<Y<=Y,o)
L ABINDUG =IN(A 10 tA2X)(A2iAon) - (X=YTY)
dY=Agn(A1r+AzY)=Aon(A1+AgX). Siehe CIE 230:2019
dYoq=0,35, Ay=0,6666, A,=0,1044, ¢=1,00
dY;g=0,08, A,=0,017, A4,=0,0058
dY3,6=0,02 Y, =18, dY=0,0%5

t*,=748 dY,=0,08 d

Anwendungs-
bereich

log AY/Y)
S=(AY/Y)

LABJINDu6
Normfarbwertemfindlichkeit
Yoc=Yw - nc=100,
tLaBaNDus=IN(A1n+A2Y)/(A2rA0n)  (Yne/100<Y<=Y,o)
L ABINDUG =IN(A 1ntA2X)(A2iAon) - (X=YTY)
AY/Y=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/Y}g=0,2039, A4,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)§=0,0044, A 5,527, Ay=0,0058
(dY/Y},6=0,00,3 V.218, dY=0,08

Anwendungs-
bereich

R »
log(dY/Y)E-2,34 m=-0, e y o
| NN

t+,=748 dY,=0,08 dY,/Y,=0,00441
1

|>QJ::l
Xw=5

XxN=0,2

log (Y/AY)
C,=(Y/AY)

LABJINDu6
Normfarbwertkontrast

Yoc=Yw - nc=100,

L ABINDUE=IN(A 17+ AY)(A2rA0n)  (YndL00<Y<=Y;,0)
t*LaBaNDus =IN(A1ntA2X)/(A2Aon)  (X=YTYY)
YIGY=Y/A g Ag Ao V)IEX Y TA oAt Ag )]

UGB OB VY222
log(Y/dY)=2,34 m,=0,13 ¢ $ By
- 1

(Y/dY}y=250,46 7y=0.666F 81=0,1044 =180
(YIdY)g=222,40. 5,=0,017, AgntO,OO%gWE”dU"QS'

(YidY=147,55 Y, 18 =008 _ ek

xN=0,2 Ii Xw=5

Anwendungs-

it
(S

LABJNDuG6 relative Dreieckshelligkeit t*/t*,
Y= Yw nc=100,

tLagaNDus =IN(A1n+A Y (A2rAcn)  (Yad/100<Y<=Y,o)
tLagaNDus =IN(A 1ntA2X)/(A2iAon) - (X=Y/Yy)
t(3,6)=320 1 ,(18)=748 t* ,(90)=1164

t*gt* ;=1,55, Ay,=0,6666, 4,=0,1044, ¢=1,00

t1g/t*y=1,00, A,1=0,017, A4=0,0058

t*3 gtF,=0,43,15,=747,51 Y18

t/t* =1, m,=0,79

LABJNDUuG relative
Normfarbwertdifferenz
Yne=Yw nc=100,

tLagaNDus =IN(A1n+AY)(A2rAcn)  (Yad100<Y<=Y,o)
tLagaNDus =IN(A 1ntA2X)/(A2iAon) - (X=Y/Yy)
dY/dY =(A1tAX)/(A1+AY)

dYoy/dY,=4,43, Ay=0,6666, ,=0,1044, ¢=1,00

dY,g/dY,=1,00, A,;=0.017, 4.=0,0058 _

dY ¢/dY,=0,31, Y,=18, dY=7,08 $¢

>

=748 dY,=0,08 0¥, /1,=0 4044 &

“I
p Anwendungs-
1 bereich
=1
Xw=5

log(AY/AY,)
AYIAY,

“,=0.56

XN=0,2

log [AYY) I (AYIY),]
SSu=AYN)AYY),

LABJNDUS relative

Normfarbwertempfindlichkeit

Yoc=Yw - nc=100,

tLagaNDus =IN(A1n+A ) (A2rAon)  (Yad100<Y<=Y,o)

tLagaNDus =IN(A1ntA2) (A2iAon) - (X=Y1Yy)

@YYYAYIYV=LA 10+ A2) Xl (A 10+ A2y)
(AY/Y}of(dY/Y)-0.88, Ay=0,6666, A,=0,1044, ¢=1,00

log[(dY/YY(dY/Y),]=0, m/=-0,13
t*,=748 dY,=0,08 dY,/Y,=0,0044
=1
Xw=5

Anwendungs-|
bereich

XN=0,2

log [(Y/AY) I (YIAY),] LABJINDu6 relativer
- Normfarbwertkontrast
C /Gy =(YIBVIYIAY), oy e,
tLagaNDus =IN(A1n+AZY)(A2rAcn)  (Yad100<Y<=Y,o)
tLagaNDus =IN(A 1ntA20)/(A2iAon) - (X=Y/Yy)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)
(VIdYpg/(Y/dY)=1,12, Ay=0,6666, A,=0,1044, ¢=1,00
(YIdY)g/(Y/dY)=1,00, A,=0,017, A=0,0058
(Y/dY} g(Y/dY)=0,64 Y,=18, dY=0,08

log[(Y/dY)(Y/dY),]=0, m=0,13

Anwendungs-
bereich




